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2021-01-04 JEIRREE gojgo @ e 1H8 = 407,3008 =  407,300% 407,300
2021-01-04 JEIZRABE B33 K ocococcoo 18+ 100,0008 = 100, 000& 100,000
2021-01-04 JEIEYEE Hel 4 ocoocooo 8 + 100,0008 = 100,000 100,000
2021-01-14 JEIRAZE a1 2tk 4 oo 1H8 = 210,0008 =  210,000& 210,000
2021-01-15 JlEtZR 3 Jper g oo 1JH& =+ 50,0008 = 50,0008 50,000
2021-01-23 JIEIR& =3 el 2 cococoo | 1JHE =+ 300,000” = 300,0008 300,000
2021-01-29 JIEtEREZ 3| & M cooccoo 18 = 100,0008 = 100, 0002 100,000
2021-01-29 JEtER2 el t oo 188 = 20,000® = 20,000& 20,000
2021-02-09 JHNEERSE el 2 oo 1H8 = 50,0008 = 50,0008 50,000
2021-02-23 JERE2 JHel 2 cocococoo | 1@ =+ 300,0008 = 300,000% 300,000
2021-02-25 NEIRRZE a2t 4 oo 18 = 210,0008 =  210,0008 210,000
2021-02-26 JEIZ=RZ2E el 4l oo 18 + 50,0009 = 50,000& 50,000
2021-03-02 Nersazs BEI1& M cocooo 18 = 100,0008 = 100, 000& 100,000
2021-03-08 JEIZRZE BIZHEbR & oo 148 = 210,0008 = 210,000 210,000
2021-03-15 JEI=RSE el & oo 1JH&8 » 50,0008 = 50,0003 50,000
2021-03-23 JEtEA3 el 2 cococce | 1@ +  300,0008 = 300,000 300,000
2021-03-28 JEI=RZBE el t oo g+ 20,0008 = 20,000& 20,000
2021-03-31 JEERS delgol B ooooe W8 = 4426008 =  442,600% 442,600
2021-04-03 et=a3 SI2b R 4 oo P& = 210,0008 =  210,000& 210,000
2021-04-05 JEIZR3E el £ cocoo 1HE  ~ 12,508,4208 = 12,508,420& 12,508,420
2021-04-12 JNEIRESE BEIH N cococo & = 100,0008 = 100, 000& 100,000
2021-04-15 e = el & oo 18" 50,0008 = 50,0008 50,000
2021-04-23 JIEI=83E He 2 coococoe | 118 +  300,00080 = 300,000 300,000
2021-05-04 JNEIZHEZE e & oo 18 = 20,0008 = 20,0003 20,000
2021-05-10 HEIREZ 2R o oo 18 = 210,000 = 210,000 210,000
2021-05-12 JIEIZ=8 3 SIS M cecocooo 18 =+ 100,0008 = 100,000 100,000
2021-05-13 JEIREZSE Hel 2 oo 18 = 50,0008 = 50,000% 50,000
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2021-05-22 JEI=¥33 Hel B2 occocwoo |18 + 300,00080 = 300,0008 300,000
2021-05-24 JEtRE 3 el 0l oo 1948 + 300,0008 =  300,000& 300,000
2021-05-28 JIEIRA3E Feigol Of coooo 1H& =~ 300,0008 =  300,000& 300,000
2021-05-28 JEt=E= et & oo 18 =+ 30,0008 = 30,000 30,000
2021-06-04 JEIRZAZE B230|& N cocooco & +  100,0008 = 100,000& 100,000
2021-06-07 JNEIRAAZE BlghEr A 4 oo 1H&E =«  210,0008 = 210,000 210,000
2021-06-14 JEIRRBE el 4 oo 1@ = 50,0008 = 50,0008 50,000
2021-06-23 JEtEE 3 B/ Ru] &2 cocoocoo | I8 » 300,0008 = 300,000 300,000
2021-06-28 JlEtERB el & oo 18 + 30,0008 = 30,0008 30,000
2021-07-15 JEEAZE Jhel oo 18 =+ 50,0008 = 50,000 50,000
2021-07-26 JIEERZ2E QIZLEHR 4 oo 148 « 210,0008 =  210,000% 210,000
2021-07-27 JIE 33 et 2 occocceoe | 1JiE + 300,000 = 300,000 300,000
2021-07-29 NEIZEZ2B Jiel A oo 148 =+ 30,0008 = 30,0003 30,000
2021-08-09 et )3 el g oo 1M =+ 50,0008 = 50,0008 50,000
2021-08-23 JEtR233E el 2 cooocoeo [ 10i@ * 300,000&8 =  300,000& 300,000
2021-08-25 JeZad3 SI2rEH R 4 oo 18 = 210,0008 =  210,000% 210,000
2021-08-30 JNEIRES el & oo 188 =+ 20,000 B 20,0008 20,000
2021-09-08 JDEIZRJAZE Jel d oo 148 » 50,0008 = 50,0008 50,000
2021-09-17 NEIZRZE QIZtEHA 4 oo 18 » 195,000 = 195, 0002 195,000
2021-09-23 JEI=RSS Jhel 2 cocoooo ({1 + 300,000&8 = 300,0008 300,000
2021-09-28 JEtZRBE el oo g+ 20,0008 = 20,0003 20,000
2021-10-06 JEtREZS dejgel B cooe 1HE = 340,20080 =  340,200& 340,200
2021-10-14 JEIZREE el & oo 18 + 50,0008 = 50,0003 50,000
2021-10-18 JEIERSE el 8 oo i@ » 4,000,0008 = 4,000,000& 4,000,000
2021-10-18 JEI=RZE BIZHER R 4 oo 188 » 105,0008 = 105,000& 105,000
2021-10-22 JEIRAZE Jhel 4 oo 1908 + 20,0008 = 20,000 20,000
2021-10-23 JEt2EASE Jhel 2 cocococooco | {1 =+ 300,000 =  300,000& 300,000
2021-11-02 JEt2E 3 deolga Ot ococee 1JH8 =~ 300,0008 =  300,000& 300,000
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2021-11-10 e#as hel e 148 = 50,0008 = 50,000& 50,000
2021-11-12 JEt=R3E BI2bEt 8 oo 1o’ +  105,0008 =  105,000& 105,000
2021-11-23 E=d3 Jiel 2 ecoccocooco [ {1J48 =« 300,0008 =  300,0008 300,000
2021-11-30 IEIZ)BE Jh el 8 eco 18 = 20,0008 =  20,000% 20,000
2021-12-16 JEtZEEZ BIZHEL T 8 oo 198 = 105,00080 =  105,0008& 105,000
2021-12-23 JEI=ES el g2 coccocceo | 148 + 300,00080 =  300,0008 300,000
2021-12-27 JEERZ He 4 oo 148 » 50,0008 = 50,0003 50,000
2021-12-29 =SS JHel & eo 1H8 = 20,0008 = 20,0008 20,000

el 25,888,520




